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mEX  HBEE 5L W(PREE:28H296IAN S BEHEER:ATAHLBT2AN)  [B6E 6/EH12)
HAKRE BEHE 5946 $(HREE:28H2959AN " HMHAEERK 4THLH872A) [EE48/ FE#96]
YA X3
/8 B8 1=4EE PR 4885
1 m"LE s A=K 0 *E-)Id'fﬁm ﬁﬁ*‘jﬁm
<oass| S K% £ i TSR e e e
1(1) | &:E [ERfb 48 \RER £ 71©) 49,436 18.0 10.4

5(6) | 5,2 [/MI Bk 68 |RER IR 26,352 9.6 5.5
6(7)| k| [HP FEX 60 |HBHRMEFTDE Q) 23,074 8.4 4.8
1) | &ZE MBS ELF 46 |2NBA =16 21,712 7.9 4.6
8(9) =F FFE 37 &R # 17,976 6.5 3.8
9(8) KT B 34 MR h 13,972 5.1 2.9
10(10) /AR FYZ 31 |BRDCCHEAYIT D% Hr 5,160 1.9 1.1
11(11) I i 39 HHERFER H 4,622 1.7 1.0
12(13) kg MY 48 |HEFTIE # 4,093 1.5 0.9
13(12) IZNR 2HE 72 [ EERBRYDE E30} 3,783 1.4 0.8
14(14) f=hE I 52 |FhetE # 2,712 1.0 0.6




15 (15) WK E17 50 |#EFTEUE - #h/E H 1,773 0.6 0.4
16 (16) EH MhTE 63 TR IR 1,592 0.6 0.3
17(18) 50 N g ¥ 75 |ERTE e 1,271 0.5 0.3
18(17) ~o< 49 |[FREHRRT # 690 0.3 0.1
19(19) HLR FEx 67 |#EFTE # 583 0.2 0.1
20(22) EE =V :: 72 ﬁﬁﬁﬁ LRl # 309 0.1 0.1
21(24) AAL BHF 61 | RALBFEHF5= # 300 0.1 0.1
22 (21) KZIFY EA 80 | FEE #h 267 0.1 0.1
23 (27) [FH EHHE 39 |#EMTE # 247 0.1 0.1
24 (20) g &L 45 |ZEFHELGL # 246 0.1 0.1
25 (25) BHEITE XE 49 |ZFBRREGL # 234 0.1 0.0
26 (28) L 54 |ZFFBUREL H 213 0.1 0.0
27 (23) N 5F 31 |#EfTE # 176 0.1 0.0
28 (26) L\bhEh pER 69 |#EFTE # 163 0.1 0.0
29 (29) uHL [FAL 64 |HhEBKFEF05 # 147 0.1 0.0
30 (31) SLLA F1T 42 | F¥LPFER Hr 118 0.0 0.0
31(30) sHLFE BF 61 |XFH=EEL # 89 0.0 0.0

| M B E & 275,196 57.8

B E/ F R E 7,773 1.6

=) B 282,969 100 59.5
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2(2) | RER 11 56,073 20.4 11.8
3(4) |HARHKES 5 40,189 14.6 8.4
45) | BBEEFTDE 4 19,889 7.2 4.2
5(3) [HH5E 7 19,706 7.2 4.1




6 (1) |EFDEEURKEREGEMNET=H 1 11,153 4.1 2.3
106) |(t=RE% 1 9,795 3.6 2.1
8(11) |[ERBYDE 0 6,737 2.4 1.4
9(10) |FrchE 0 5,839 2.1 1.2
108) | AARDZZAZEKRYIZT 5% 0 4,729 1.7 1.0
1109) |XFBR=EEL 0 4,370 1.6 0.9
12(12) |=EfEEET 0 803 0.3 0.2
| M B R F OH 275,305 57.9

B o E /AR E 7,654 1.6

=) &t 282,959 100 59.5
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e  H|EFE D 8A(&%%&:ZS?%WQA/%H?E*E%%k:46731944)k) [E 5/F#012)
AR R 54,98 H(EREEK: 25539052\ ZHEEERK 4601944 N)  [hE48/FEZh96]
WIEERXE
B E| w o Catiiik] ey [AANEERGNEEER
bl Rt K% £ IR iR IR TR PRI ) (%)
2(4) | 2,8 |IlUAX KEBR 38 |#EFTE HD 37,892 15.2 8.2
3Q)| 2 TR &KL+ 30 |[HARHKER D 30,845 12.4 6.7
46)| Rm |99 HhA 49 BE® 710 26,855 10.8 5.8
| 50)| M|t K= |61 [HBRER | B@ [ 25886 104| 56
6(2) 3:E& |lUO TOFK 61 |Z\BH% =€) 21,941 8.8 4.7
1(7) INE E 55 |BAREFTDE # 18,022 7.2 3.9
8(8) mME A—352FK 45 |AHATED # 14,724 5.9 3.2
9(9) KR FSZ 60 |#EFTE "D 12,290 4.9 2.7
10(11) =52 &BF 45 |HEYDE Hr 4,203 1.7 0.9
11(10) wAR E1T 47 |#EFTBUR - FT A # 3,038 1.2 0.7
12(12) hiy FEER 85 |#EFTIR # 2,134 0.9 05
13(14) Ao BBF 58 |#EFTIE # 725 0.3 0.2
14(13) R =F 43 |FEREEHRE # 673 0.3 0.1




15(15) v IR 64 |(ATAIL5% # 623 0.3 0.1
16 (16) F* 65 TR # 318 0.1 0.1
17(19) EE =V :: 69 [HRFFHREKT # 303 0.1 0.1
18(17) WA #D5 66 |FEFTE #h 271 0.1 0.1
19(18) Bt S5 53 |#EATE # 258 0.1 0.1
20 (20) mE 855 77 |#EME # 126 0.1 0.0

248,976 93.9
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clk

2(5) |HARLLE 36,012 145 7.8
3 (6) | ATED 5 4 33,324 13.4 7.2

I3




4(4) BAREHFO= 6 28,455 11.4 6.2
HbQ) IRER 7 27,442 11.0 5.9
6(2) [XBAS 7 18,957 7.6 4.1
1010) (DI V=2 XD\ 0 8,450 3.4 1.8
8(7) |[ft=z=REw 1 6,426 2.6 1.4
9(8) | £EFDF 0 5,408 2.2 1.2
1011) |#AEYD R 0 3,530 1.4 0.8
11(9) |FrmXKith 0 2,081 0.8 0.5
12(12) |FREH = 0 539 0.2 0.1
| M B R B OH 248,792 53.9

B O E/ 1 RBE 5,160 1.1

=) &t 253,952 100 55.0
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F22ETH11H %‘t

e  H|EFE D 7A(&%%%(:%?ﬂ%?}&/éﬁH?E#E%%k:46752234}k) [2R3E 5/F#12)
HAREK BEHR 57.96 YR EEK:26 57933AN/HHEHEELK: 4672234 N)  [:E48/E%96]
WIEERXE
BT E| e IxfHE mamy |[ANSEEENEE
bl Rt K4 4 A B 5 Ik H IR TR PRI ) (%)
1(1) | Z:Z |5EM 42 RE® (@) 58,559 22.8 12.7
2(8) A = 52 |BAREIF5% # 53,784 20.9 11.6
3(4)| &:E /Ml Bk 62 RE® () 29,320 11.4 6.3
| AQ)| 2 ) FEED | 63 [HERER 0 | BQ [ 23867 93| 52|
5(5) | &:& [#AA AKX M |\ HAEDR #H 23,296 9.1 5.0
6(6)| R |/hith HEDL 50 |[HAHER $7(0) 21,077 8.2 4.6
1) &:F ME ELF 40 |/ABR® HD 20,294 7.9 4.4
8| [®m wEF |42 |BERER | #H | o954 37|  21]
9(10) *RIR FH 37 t=RIEw # 5,109 2.0 1.1
10(9) INE BHEF 31 |[I=b®HANBER # 3,723 1.4 0.8
11(11) SHL Z3=55 49 |FTRE # 2,022 0.8 0.4
12(13) AR HE 61 |HEFTE # 1,869 0.7 0.4
13(12) IR SHY 57 [EIR#= # 1,800 0.7 0.4
14 (14) Heh {8F 58 |#EATIE # 896 0.3 0.2




15(15) Oy ERE 48 |EFREHRRT # 376 0.1 0.1
16 (19) RE #FX 79 |EFTE # 293 0.1 0.1
17(17) vy IR 61 |[RAVAIL5 # 289 0.1 0.1
18 (20) <AL ik 66 [HAZRFHELRART # 274 0.1 0.1
19(18) WA HD5L 63 |#EFTE #h 247 0.1 0.1
20 (16) IMIT J/E 44 |EERTIE #h 183 0.1 0.0
21(22) IEER (TAL 58 |THMEi%EBEETHEE e 122 0.0 0.0
22 (21) &% Fitk 39 |Fi=AE #h 01 0.0 0.0
23 (23) ME FH 68 | IV—"0 (93T # 64 0.0 0.0
24 (24) =h HEEL 61 |H=EDH = Zn 50 0.0 0.0

| M B B & O 257,139 55.6

B E/ F RBRE 10,798 2.3

=) B 267,937 100 58.0
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33) |HATED 7 38,435 15.5 8.3
405) BAHKESR 3 18,203 7.3 3.9
5 (4) [/~ 6 17,543 7.1 3.8
6 (10) | BAREIF = 0 16,902 6.8 3.7
106) |[(t=RE= 2 14,156 5.7 3.1
8(N |I=bdANBER 1 5,748 2.3 1.2
9(8) |F=iE 1 4,278 1.7 0.9
1009 [ER#H= 0 2,938 1.2 0.6
11(171) (X5 0 1,023 0.4 0.2
12(12) |=EfEEHT 0 656 0.3 0.1
| M B R B OH 247,713 53.6

B E /AR E 20,220 4.4

=) &t 267,933 100 58.0




